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1. Give the formal definition of the DFA drawn below.
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2. Draw a DFA that accepts strings over the alphabet {0, 1} that start with 00 or end with 11. (Thus, 0010101 and 01010011 are in the language, but 010001 is not.)

3. Draw an NFA that accepts strings over the alphabet {1, b} that have a as their fourth letter from the end. (Thus, abbb and bbabaa are in the language while aba and bbabaaa are not.)

4.  If an NFA has 20 states, what is the most number of states the corresponding equivalent DFA can have?
